Homework:

Shown below is a small part of a cellulose polymer as drawn by our wood science professor.

I have 2 questions:

1) The oxygen in the glucose monomers appear to have 2 unpaired electrons --- does this mean that the structure is anionic with regard to charge?

2) The primary question is for us to determine how methanol (CH3OH) is chemically or thermally (or both) derived from this structure ---- is methanol derived from another wood chemistry is it somehow derived from the additional protonation of the methylene radical??? But how??? 

[image: image1.emf]O

C

OH

H H

OH

OH

OH

O

O

C

OH

H H

OH

OH

OH


